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class MyTime: cose LSJST )lﬂ

def

def

def

def

def

def

__init (self, h =8, m =8, s = 8):

self.hours = h

self.minutes = m

self.seconds = s

self.hours, self.minutes, self.seconds = self.seconds to time(self.to seconds())

to seconds(self):
return self.hours * 3688 + self.minutes * 68 + self.seconds

seconds_to time(self,s):

h =s // 3666
m= (s % 3688) // 68
s = (s % 3680) % 60

return h,m,s

__str (self):
return ‘#&d @ %d @ %d'¥(self.hours, self.minutes, self.seconds)

atter(self, time2):
""" Return True if I am strictly greater than time2
return self.to_seconds() » time2.to_seconds()

increment(self,time2):
self.hours, self.minutes, self.seconds = self.seconds to time(self.to seconds()+time2.to seconds())
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MyTime(7,61,61)
MyTime(&8,6,86)

t3 = t1 + T2
print(t3)

Traceback (most recent call last):
File "h:%Tadris\Advanced Programming\Python‘\Codes\test\MyTime\MyTimeV2.py", line 34, in <module>

T3 = t1+t2
TypeError: unsupported operand type(s) for +: "instance' and 'instance'’
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add__, __sub__, __mod__, _ pow +, -, %, **
mul ,  truediv_, _ floordiv__ *, /s 1/
eq_ , gt le ge 1t ne ==, >, <=, >=, <, I=
__len Jsh
__or__ |
__iadd _, disub_, imod_,  ipow _ +=, -=, %=, **=
__imul_ , idiv__,  ifloordiv___ *=, /=, [//=
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def add (self, time2):
return MyTime(8,8,self.to seconds() + time2.to _seconds())

t1 = MyTime(7,61,61)
t2 = MyTime(8,@,26)

t3 = t1 + t2
print(t3) 1e : 3 : 27
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_le (self,time2):

return self.to _seconds() <= time2.to seconds()

_eq (self, time2):

return self.to seconds == time2.to_seconds()

__sub_ (self,time2):

if self <= time2:
return MyTime(6,8,8)
=lse:
return MyTime(6,8,self.to seconds() - time2.to_seconds())

s
tpdsy Jln pi

t1
t2

print(tl - t2)
print{t2 - t1)

MyTime(7,61,61)
MyTime(8,8,86)




def del (self):
print("%s 1is dying

( "R{self. s=tr

_(3))

for 1 in range(l18688):
T = MyTime(8,8,1)
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class MyTime:

def

def

def

_dinit (self, h=8, m =8, s = @):

self.hours = h

self.minutes = m

self.seconds = s

self.hours, self.minutes, self.seconds = self.seconds _to time(self.to seconds())

to seconds(self):
return self.hours * 2668 + self.minutes * 68 + self.seconds

seconds_to time(self,s): —-—=-—--—-—-—-—-—-—-— - - — -
h = s // 36686

m= (s % 3688) // 68

s = (s % 3608) % 68

return h,m,s

t1 = MyTime(18,18,18)
t1.minutes=1g8 = =  ——===t------- .
print(tl)
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def seconds _to time(self,s):

h =5 // 366

m= (s % 3688) // 68
s = (s % 36008) % 68
return h,m,s
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@property
def Hours(self):
return self. hours

@Hours.setter
def Hours{self, wvalue):
if walue ¢ 8:
print({"hours should be positive")
alse:
self. hours = value

#print(tl. hours) ===> Error

tl = MyTime(18,28,38)
print(tl)

tl.Hours=48

print(tl)

tl.Hours = -28
print(tl.Hours)

18 : 28 : 26

48 @ 28 . 26

hours should be positive
48




@property
def Minutes(self):
return self. minutes

@EMinutes.setter
def Minutes(self,value):
it value »= 68 or value < 8:
print("minutes should be in range
alse:
self. minutes = value

@property
def Seconds(self):
return self. seconds

@Seconds.setter
def Seconds(self,value):
if walue »= 68 or value < @:
print(“seconds should be in range
alse:
celf. seconds = value

[0,68)")

[8,60)")
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